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Part one: Reading

A. Comprehension ' (7pts)

Read the text carefully then do the activities

The world progress is largely due to inventions. Whenever a new method, machine, or gadget is invented, it
helps human kind to live a little easier or longer. Gradually inventors add to wealth, knowledge and comfort.
Inventions work with known things and known principles to make a new product or process. A discovery differs
from aninvention. A discovery is something found in nature which was previously unknown. A new chemical

element is a discovery, but a new type of cngine is an inventior.

Today, inventions are being made in all fields: mechanical, chemical, and electronic. New inventions make new
jobs, businesses and industries. They bring wealth to a nation and help prepare the way for still more inventions.

1. Say whether the following statements are true or false (0,5 pts x 3)

a. Inventions work with new things.
b. Inventions cover all studied areas.
c. Inventions are a source of wealth.

2. Answer the following questions according to the text.

a. What is a discovery? (1 pt)
b. Why are inventions useful to humanity? (1,5 pts)
¢. Give an example of a “discovery” and another one of an “invention”. (1 pt)

3. What or who do the underlined words in the text refer to? (0,5 pt x 2)
R e b.lIhe B
4. Find in the text words that are closest in meaning to the following: (0,5 pt x 2)

a.development(§1): ... ... ... .. b. domains (§2): .............
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B. Mastery of Language (8pts)

1. Put the verbs in brackets in their correct form. (1pt x 3)

a. When you throw an object, it (fall).
b. Harry will reduce taxes if he (win).
C. If he knew, he (be) scared.

2. Rewrite sentence (B) so that it means the same as sentence (A). (1 pt x 2)

a. (A)New inventions make new jobs, businesses and industries.
(B) New jobs .. = E

b. (A) Lessons are belng copled down by the puplls
(B) The pupils....

3. Complete the following table. (0,5 pt x 4)

noun
product

to live
to differ

4. Classify the following words according to the number of their syllables. (0,25 pt x 4)

-Business - democracy - field - machine

One syllable Two syllables Three syllables Four syllables

Part two: Written expression (5 pts)

What invention do you think is the most useful to humanity?




